Name: Algebra II — Quarterly 1 Exam Review(Adv)

(
‘3 x -—‘-’ -—w - 1
x-y+2z=11 X 10 =Y x=zf
1. Solve the linear system. 2y+z=5 2y -3=%5

| (21,4, -3)7 =

2. Identify the solutions of x> = 7x+10=0,
(x-9)(x-2) | X=6,2

3. Solve for x —x*+4=-8

4. Solve the equation by stZsior 2l i
7 - Solve the equation by completing the square.” x*+8x-6=0 % ™ Bx + IE = ot '{E

(xr+*H?= 22

5. Solve the equation usmg the quad ormulay 4x 0 %+4 =232
o Gudn e i - (biAR (t X -4r(oa)

6. %md the discriminant of the equation and state the fumber of REAL.solutions. 3x* —7x+2=0

H9-4(3)2) =49 - = bs | (2 rtel ]

. (. Factor the polynomial 5x* —13x-6 e r‘ZX"V
—(—Lﬂ_ - 15X
Sxr2)(X -3 5¥(x -3) +2(x -3)
8. WOMM

(ax—432m+4)

. ﬁ?;auf;a =9x+20

10. Solve [3-5x|=1

L

11. Evaluate f(—4) if f(x)=
é?(f‘f)l' 3(“"1)"[

a(we) +8 -
e 17 = ] ;
12. What is the vertex o function: y=2(x+2)" -3

I(—Q—S)'

13. What is the maximum value 6t the function y——3x +6x-5

o .y -3(1)? wm s (1,-8)
- = :(_0 | - 2 Ty = =

. 2(-3) =
14. Solve the inequality 2+|x+2|25
t2lz 3

Xtle &8 Xt24 -
SE TR T
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Name:

15. Data from an experiment is shown in the table below. What is the quadratic regression for the

real world data?

Algebra Il — Quarterly 1 Exam Review(Adv)

X 8 10 12 14 16 18
Y 52 64 72 78 8] 16,
— ) _ '
16. Grap]1y=|x+3|._.1' \ l (A - OOL’ 7 >< “’ IL‘ .7&><' Sbi%
f N

A l .l i
Open Ended — 10 Points Each “

1. Write a system of equations for the word problem. 2

Ethan bought 1 pound of MfS’cM’s, 2 pounds of Swedich Fish and 1 pound of Snowcaps for $11.70.
Kiersten bought 2 pounds of M&M’s, 1 pound of Swedish Fish and 1 pound of Snowcaps for
$12.40. Chris bought 3 pounds of M&Ms, 1 pound of Swedish Fish and 2 pounds of Snowcaps for
$19.10. Xty 2= W70

a.) Write a system of equations to represent the problem above. 2%+ W vz =\3.40

3x+ Yy 2z =9.f0
MaM's — $3-30 55 ap 3,50 = 2,2 W=25 273.5
Swtdion. =>4 2.5 w P X _ B
¢.) How much'would it cost for 2 pounds of M&M'’s, 3 pounds of Swedish Fish and 2 pounds of
snowcaps?
2(23)+ 3(@as)ra(3.s)
G4 +77-5¢7

$20.90

2. Solve the quadratic equation below using 2 of the methods we studied this year.
You MUST show ALL of your work to receive credit.

b.) Solve to find the price of each item separately.

x2—14x +48=0
L fodor 2, P 59 | 5. 8 am
(v-)(x8)=0 | XEodx +a= 1 | 15319404
G 3 (x -1)= | y
" “ % ~7s EY I 142 {au-9e
X== %) 2t
- gt {F = 14£2
X =8 ,0 \ = ==
b &
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5. X bx-3=0  -br fofac )
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LUy e iqlay AL
s - ¥ i

3B  _| 23|
8

b 3Bx*TIx+ b= dac )

(-1) ~4=))

49 -84 $ 1

a5 - QW@«O,&’DM-HM

1, Bx*=13yx -l 4
slade ¢« dindd O Crmaming. 0:C=-30
XZ=13x —30 CJ@ 1Q IS /\3 g
(x-18)(x+2) 5 %215 xl: e s

> O 5Xx(x-3) £+ 5(x-3)
| (x-3)(Sna)\ [(Ce-ad(5x19))
—) \ s

2 D=l o
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9, 3\l 520 |
(x4 (% _'_6._5_\_.,..___.,._....“_,_._ s it el .
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A
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